Checkpoint 1: Assess Your Understanding, pages 545-548

1. Multiple Choice Which expression simplifies to X~ 3,

x + 4°
X —9 X —9
5@27,96 #—4,-3 B.0—————x#3,4
x + 7x + 12 x — 7x + 12
X+ 9 X+ 9
.27,96?5—4,—3 D_27,x¢3)4
x + 7x + 12 x — 7x + 12
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2. Write two equivalent forms of each rational expression.

2

3x
a) 5

The expression has x = 0
as a non-permissible value.

3 _ 3¢
5x 5x 2x
6x°
104
W _
5x 5x
_
5

The equivalent expressions are:

6x°
10x%

x#Oand%X,x;EO

—2(x — 6)

b) x(x + 7)(x — 6)

The expression has x = —7,0, 6
as non-permissible values.
—-2(x — 6)
X(x + 7)(x — 6)
_ "2x—6) x+7
xx + )\x —6) x+7
_ -2(x — 6)x + 7)
"~ x(x + 7(x — 6)
—2(x — 6)
x(x + 7)(x — 6)
—2x—6)
" xx + D61
- - 2
x(x +7)
The equivalent expressions are:
-2x —6)x + 7)

7 ,X# —17,0,6and
x(x + 7)°(x — 6)
-2
X+ 7),X #-—17,0,6
3. Write each rational expression in simplest form.
25x° X+ 7x — 18
a b)~————
) 10x° ) x* — 81
The non-permissible value is: _x+9x -2
x=0 T+ 9x—9)
25¢ _ *25%° The non-permissible values are:
10¢  Hx? x=-9andx =9
=X x#0 _ - 2)
B T e - 9)
_x-=2 _
= g X% =99
98 — 2x° 2(49 — x)
c) - . =S
4x" — 24x — 28 4 —6x—7)
. 2(7 — x)(7 + x)
T Ax - Tx + 1)
The non-permissible values are: x = —1and x = 7
_ —2—T(7 + x)
T A —TTx + 1)
_ __1+x _
= sy XF VI
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4. Here is a student’s solution for simplifying a rational expression.
Identify the error in the solution. Write a correct solution.

4x =8  _ 4o—2)
¥+ ox— 8 (x+tAHee—7Z)
_ 4 _
—X+4,x7ﬁ 2,4

The student has made an error in the signs of the non-permissible values.
Each factor in the denominator should be set equal to 0 to get x = 2 and
X = —4 as non-permissible values.
Correct solution:

4 -8 _  Ab—2)
X+ -8 (X + 4 —2

- _4 _
—X+4,x¢ 4,2

5. Multiple Choice Which values of x are non-permissible for
X +3x . x+ 3,

x—2 " x+5
A.—52  (B)-5,-3,2 C.—5,-3,0,2 D. —3,0,2

6. Simplify each expression.
14(a — 9) 5a

2n’ — 128 6n — 10

Vs da-9 D=5 a-s
Non-permissible values: Non-permissible values:
a=(2)anda=9 n=§andn=8

_ M (a—9) 5.
T SR T _2(n* — 64) 2(3n - 5)
’ T~ 3m-5 " n-38
=2a2%09
33 : 2 —8(n + 8) 235

3r—5 nA—7_
4n + 8).n # 2,8
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18 . 12 d) 56 — 1lx + 2 . 26" + 10x — 28

C)4(€+2)'7(€+2) X —3x—28 i+ llx + 28
Non-permissible values: 5x — 1)x —2) 2 + 5x — 14)
e=-2ande=0 =(x—7)(x+4) - x+ 7)x + 4)

_ Cage?  He+2) Gx— Dx—2) 2+ Nix—2)

dle—+27 A2 T+ 4 T x+ D+ 4)
= ZjTe’ e+ —2,0 Non-permissible values:

x=-=-7,x=-4,x=2,andx =7

_ (5x = 1)_()#‘/2)’- +T) 1)
(x = Ne—+14) 2x+T7) —2)

_ 5 -1 4
_2(x—7)'X¢ 7, —4,2,7

7. Simplify each expression.
a) 2a°b . 4bS  124°C
9ab’  3ab® b

Non-permissible values:a = 0,b = 0,c =0
_ 23k Zak? ‘arde
Sab? sy e

_2a'
b

a#0,b#0c#0

b)3x—27.x2—7x—8; 5x
‘-1 X -8  x—2

_ 3x-9) x—=8)(x+1) 5x

Tw-NDx+1) k-9 +9)  2x—1)

Non-permissible values: x = -9, —1,0, 1,9

_ 39 8T 26e—T1)
=T e+T1) —9)(x + 9) 3x
6(x — 8)

= m.XJE -9, -1,0,1,9
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